Topic 19: Exercises on Harder 3 Unit Inegualities
Level 2, Part 2

1.If >0, >0 and c>0,showthatg+é+£23.
c a

2.If a>0, b>0, ¢>0 and d>0showthat (b+c+d)a+c+d)a+b+d)a+b+c)=8labed.




3.If a>0, >0, ¢>0 and d > 0show that %+é+£+i24.

C a a
Hint: Show that ﬁi’-”zc—” > 4/abed .




4. Show that for x>0 x>ﬂ.
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< 1 <1. By integrating between 0 and « deduce that

5.If 1 >0, show that 5
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6. Showthatgj.x (1-x)? czx<j —
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% sz(l—x)zdx, and hence deduce
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7. Show that forx>0 e* <1+x+§—2—e".




8.If 0<a<land x>—1, show that (1+x)* <1+ ax.
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